This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

6,524 4 1,305

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Karen CONAGHAN	Scottish National Party (SNP)	2,171
Gurpreet Singh JOHAL	Scottish Labour Party	930
David MCBRIDE	Scottish Labour Party	2,045
Lynda MCEWAN	Scottish Trade Unionist and Socialist Coalition	73
Andrew Joseph MUIR	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	100
Chris POLLOCK	Scottish National Party (SNP)	529
Jonathan RAINEY	Scottish Libertarian Party	45
Brian WALKER	Scottish Conservative and Unionist	601
Kelly WILSON	Sovereignty	30
	Total	6,524

Candidate Karen CONAGHAN Elected with 2,171 votes, being in excess of the quota of 1,305 Candidate David MCBRIDE Elected with 2,045 votes, being in excess of the quota of 1,305

Ward 3 - Dumbarton

This report contains the transfers results.

Stage 2 - Surplus of Karen CONAGHAN

866.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gurpreet Singh JOHAL	143	0.39889	57.04127
Transfer to Lynda MCEWAN	35	0.39889	13.96115
Transfer to Andrew Joseph MUIR	26	0.39889	10.37114
Transfer to Chris POLLOCK	1,798	0.39889	717.20422
Transfer to Jonathan RAINEY	12	0.39889	4.78668
Transfer to Brian WALKER	5	0.39889	1.99445
No further preference	150	0.39889	59.83350
Not transferred due to rounding			0.00981
	Total		866.00000

This report contains the transfers results.

Stage 3 - Surplus of David MCBRIDE

740.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gurpreet Singh JOHAL	1,546	0.36185	559.42010
Transfer to Lynda MCEWAN	36	0.36185	13.02660
Transfer to Andrew Joseph MUIR	26	0.36185	9.40810
Transfer to Chris POLLOCK	53	0.36185	19.17805
Transfer to Jonathan RAINEY	14	0.36185	5.06590
Transfer to Brian WALKER	109	0.36185	39.44165
Transfer to Kelly WILSON	4	0.36185	1.44740
No further preference	257	0.36185	92.99545
Not transferred due to rounding			0.01675
	Total		740.00000

This report contains the transfers results.

Stage 4 - Surplus of Gurpreet Singh JOHAL

241.46137

Ctage 1 Carpide of Carpitoet Citight Colline			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lynda MCEWAN	93	0.15613	14.52009
Transfer to Andrew Joseph MUIR	47	0.15613	7.33811
Transfer to Chris POLLOCK	95	0.15613	14.83235
Transfer to Jonathan RAINEY	29	0.15613	4.52777
Transfer to Brian WALKER	158	0.15613	24.66854
Transfer to Kelly WILSON	8	0.15613	1.24904
Transfer to Lynda MCEWAN	5	0.06228	0.31140
Transfer to Andrew Joseph MUIR	5	0.06228	0.31140
Transfer to Chris POLLOCK	65	0.06228	4.04820
Transfer to Jonathan RAINEY	2	0.06228	0.12456
Transfer to Brian WALKER	4	0.06228	0.24912
Transfer to Lynda MCEWAN	145	0.05649	8.19105
Transfer to Andrew Joseph MUIR	74	0.05649	4.18026
Transfer to Chris POLLOCK	134	0.05649	7.56966
Transfer to Jonathan RAINEY	49	0.05649	2.76801
Transfer to Brian WALKER	269	0.05649	15.19581
Transfer to Kelly WILSON	15	0.05649	0.84735
No further preference	500	0.15613	78.06500
No further preference	62	0.06228	3.86136
No further preference	860	0.05649	48.58140
Not transferred due to rounding			0.02089
	Total		241.46137

 $Report\ Name:\ Transfers_V0001_Ward-3---Dumbarton_06052022_120041.pdf\ Created:\ 06-5-2022\ 12:00:41.pdf\ Created:\ 06-$

This report contains the transfers results.

Stage 5 - Exclusion of Kelly WILSON

34.34157

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lynda MCEWAN	4	1.00000	4.00000
Transfer to Andrew Joseph MUIR	5	1.00000	5.00000
Transfer to Chris POLLOCK	4	1.00000	4.00000
Transfer to Jonathan RAINEY	6	1.00000	6.00000
Transfer to Brian WALKER	3	1.00000	3.00000
Transfer to Brian WALKER	2	0.39889	0.79778
Transfer to Lynda MCEWAN	2	0.36185	0.72370
Transfer to Andrew Joseph MUIR	1	0.15613	0.15613
Transfer to Jonathan RAINEY	1	0.15613	0.15613
Transfer to Brian WALKER	1	0.15613	0.15613
Transfer to Andrew Joseph MUIR	2	0.05649	0.11298
Transfer to Chris POLLOCK	1	0.05649	0.05649
Transfer to Jonathan RAINEY	1	0.05649	0.05649
Transfer to Brian WALKER	1	0.05649	0.05649
No further preference	8	1.00000	8.00000
No further preference	2	0.36185	0.72370
No further preference	5	0.15613	0.78065
No further preference	10	0.05649	0.56490
Not transferred due to rounding			0.00000
	Total		24 24157

This report contains the transfers results.

Stage 6 - Exclusion of Jonathan RAINEY

68.48554

Otago o Exolablott of Containant to the			00: 1000 1
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lynda MCEWAN	7	1.00000	7.00000
Transfer to Andrew Joseph MUIR	9	1.00000	9.00000
Transfer to Chris POLLOCK	9	1.00000	9.00000
Transfer to Brian WALKER	9	1.00000	9.00000
Transfer to Lynda MCEWAN	1	0.39889	0.39889
Transfer to Andrew Joseph MUIR	2	0.39889	0.79778
Transfer to Chris POLLOCK	1	0.39889	0.39889
Transfer to Lynda MCEWAN	3	0.36185	1.08555
Transfer to Andrew Joseph MUIR	1	0.36185	0.36185
Transfer to Brian WALKER	1	0.36185	0.36185
Transfer to Lynda MCEWAN	4	0.15613	0.62452
Transfer to Andrew Joseph MUIR	2	0.15613	0.31226
Transfer to Chris POLLOCK	1	0.15613	0.15613
Transfer to Brian WALKER	3	0.15613	0.46839
Transfer to Lynda MCEWAN	1	0.06228	0.06228
Transfer to Chris POLLOCK	1	0.06228	0.06228
Transfer to Lynda MCEWAN	8	0.05649	0.45192
Transfer to Andrew Joseph MUIR	3	0.05649	0.16947
Transfer to Chris POLLOCK	5	0.05649	0.28245
Transfer to Brian WALKER	1	0.05649	0.05649
No Code and a code and	47	4 00000	17.00000
No further preference	17	1.00000	17.00000
No further preference	8	0.39889	3.19112
No further preference	9	0.36185	3.25665
No further preference	20	0.15613	3.12260
No further preference	33	0.05649	1.86417
Not transferred due to rounding			0.00000
	Total		68.48554

Report Name: Transfers_V0001_Ward-3---Dumbarton_06052022_120041.pdf Created: 06-5-2022 12:00:41